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What rate does copporate social interaction play in an organization?
ive an ©xample of starting a conversation.

at is a “styck record’ technique?

S a conversation filler? Give two examples.

do you refyse a5 oﬂ”er politely? Give two examples
N Group “B”
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17. Read ¢ g ;
ollow; 3
Gla. e carefully and answer the questions asked below. “
S ili i .10
hi S ceiling refers to th ' shing to advande Within the
ISTarchy of pi € fact thy; 4 qualified person wishing ance W1
Y Of his/her organizafi.... - 1 due o a discriination most
often based . tanization js siopped at a lower level du iscrigffen =
MOSt fre, o SERIsm o racism, The glass ceiling refers thus to Vertica] diserimination
glass ¢, .‘}_“ently against womep, in companies. Nevertheless, based on Severzg ylfiles, the
discrimt?l oo can be defined as subtle but persistent barriers/obstacles, underpinned by
top/se; atory, conscious ang ung?y;scious practices, and attitudes that hj s to
o "Or management positiongfor qualified women. Glass ceiling thus_to
respogigit.(;yry barriers tha prevent women from rising 0 positions of power OF
! 1ty and advancing to higher positions within an organization simply because
they are women, € 10 higher p

Semqr managers, overwhelmingly men, define a “gendered” culture that excludes and
marg}nahzes women. This culture consists of a series of norms and organizational
practices that promote and define values, stereotypes;-behaviors, and a vision of
management and leadership that are “masculine”. In line with the social role theory, the
lmage of the Mmanager is often associated with that of 2 man with so-called masculine”
qualities, such as authority, independence, competitiveness, and ‘aggre
—  Therefore, women; who have been associated for cenfurios with diamethi f opposing .
qualities (e.g., collaboration, listening, sensitivity, and sympathy), would'be less "
committed to their careers and unable to manage. These gender stereotypes about women
have an adverse impact on their assessments and judgments. As a result, early in their
careers, women managers are assigned different responsibilities from thosetof men.
Women managers are then faced with a twofold constraint: (a) if they do no ¢
male norms, they risk being judged and evaluated negatively; and (b) if they «dopt a
“masculine” attitude, they get hurt by their colleagiies. =~ 2T .

Other beliefs about women managers can lead their superiors to fail to consjdef them as
serious candidates for top management positions. Among these beliefs are the
incompatibility of: the roles of mother, wife and manager; being a manager requiring too
much investment, flexibility and travel.

Questions:
a. What, do you think, are the biggest obsLacl.es challenges faced by women in
leadership roles? What could be the comparative advantages of female leadership
in an organization?

b. As a business communication expert offer some suggestions on ¢, e necessity of
breaking the ‘glass ceiling’ in the business world of Ne%
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[6x = 74
g might that give Tise (0 agency propje,
additional people to help you, R x et Wil i
meaning of secondary markets. A
major categories of financial ratios.
Group “B”
[6 x3=18]

Answer Questions:
@ - Differentiate between primary markets and secondary markets,

; A Treasury bond that matures in 10 years has a yield of 795, A 10-year corporate bond
has a yield of 9%. Assume that the liquidity premium on the corporate bond is 0.5%.
What is the defaul risk Premium on the corporate bond?

®  Dudn Koshi Company recently reported Rs 150,000 in operating income (EBIT). The
company’s total operating capital is Rs 800,000, The company’s affer tax cost of capital

is 11.625%, and the company s in the 40% tax : o
Economic Value EVAY g racket. What is Dudh Koshi’s

10. ;:pjp;f]eo (t)hat you ret(ijre at the age og 65. You €Xpect to live 20 more years and to spend
,000 per year \ring your rehrefnenl. How mucp money do yoy peed o save at
the age of 65 to support this €onsumption plano Assume an interest rate of 7%,
11. ABC Bank has outstanding an 9%, foy, year, Rs |
is paid annually.

a. Caleulate the value of the bond if requireg Tate of retury s @ 15% T
b. How would your answer to part () change if the bong ¥ i
bonds? 1SS were zerg coupop,

Alpha Mining Company’s ore reserves are being dep].et:ed’ 0 its salog A
its pit is getting deeper each year, so its costs are rising, g e “’j’tehgallmg, Also,
earnings and dividends are declining at the constant rate of 5% per Vear Thzompan},,s

; Company,

12
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Analytical Answer , f'y - e:\eamings? What is the reason behind the Preparation
13. What s the of retain

of it?

~ Group“C” ¢

] Notes payable
3 Long term debt

2 B | Common stock 400,000
~ | Retained earnings 350,000
00 | Total liabilities ang equity | 2,000,000
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ver ratio.
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he efficiency of the assets xﬁ
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times,
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Debt 35%
Preferred stock 15
Common stock 50
Total capital 1002%
Rakam’s {ax rate is 40 % and investors expect earnings and diviq

ends to
Of 9.9 in the future. Rakam paid a dividend of Rs 3 S

0 per shar,
tly sells at a price of Rs 60 per share. ¢ and
obtain new capital in the following ways:

(i) Preferred: New preferred stock with a dividend of Rs 11 ¢

: e an be sold to ghe
public at the net issuing price of Rs 95 :
flotation cost. p : . p'er e deductng

- (i) Debt: Debt can be sold at an interest rate of 12 94,

Questions: Fa-1 ) y

()

: ) o~ ¥
4. What is Rakam’s each €omponent cost of Capita] ?
b Whatis Rakam's Waccr .

: Group “p»
Mmiw;!mer Questions:

e. Calculate the avmaﬂ‘ e
£  Calculate the variance g
Calculate the standard

Fo%e
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i . . 17 b ’
Candidates are required to answer all the questions in their own words as far as practicable.

Group “A”
Brief Answer Questions: 16e Bk
List out major contributions made by Kirant rulers.
2. Who is known as the greatest poet of Newari language? i
3. Mention three basic aspects of HDI.
4.  Specify classification of natural resources based on its types.
5. At what altitude is Rara lake located?
6.  Define local self governance in a sentence.
Group “B”
Descriptive Answer Questions: [6x3=18]
7.  The King Janak is also called ‘Rajarsee Janak’. Why?
8.  Discuss implication of festivals on business and work culture.
9.  Shortly highlight challenges to foreign employment for Nepali employees.
10. Briefly discuss climatic zones of Nepal.
11. Discuss the importance of tourism in Nepal.
12, Mention salient features of the interim constitution of Nepal 2063B.S.
Group “C”
Analytical Answer Questions: ¢ 4 x6=24]

13. Discuss political, economic and social history from 2007 B.S. to 2017 B.S. in Nepal.

14.  Why is cultural heritage deteriorating day by day in Nepal? Give appropriate solutions to
preserve cultural heritage in Nepal.

"\Jl 5. Briefly discuss the contributions of secondary and tertiary sectors to national economy in
~ Nepal? i » “%

16..: How do business link to biodiversity? Illustrate with examples.

O
Group “D”

Comprehensive Answer Questi Mx3=12]
17.  Read the following case carefully and answer the questions that follow:
The challenges in Nepal are not only characterized by income poverty. Large

J irre.gula.rities appear to exist in social indicators when comparing the various geographic
regions and socioeconomic groups. Taking the example of literacy, rural dwellers are

twice as likely to be lliterate than urban dwellers and, Mﬂmm@%w ¥

Yoo’
Teet ]




d di ups. In terms of other indicators, such as access t0
%ﬁ%ﬂd safe drinking water, the rural regions tenfi to
be significantly ‘behind, with WMMMS. S;nce
disadvantaged groups figure profminently it !h,e incidence of both income and capabi 1tﬂ))'e
poverty, it is essential that the Government's poverty reduc.txon. program address .
factors that remove such inequalities. In Nepal, social exclusion is primarily dnvel?l' y
Teudal institutions and historic processes, that uphold or eXacerbate income and capal ]allty
poverty, on the basis of gender, ethnicity, caste and religion. But, the‘problem is Sg
driven in some instances, where the yoice of or is muted or virtually exclude

from the policy dialogue itself, due to regressive trends and on-going troublesome soc10-
political inclinations.

These anomalies apart, the increasingly volatile situation of the country demands an
overhauling of approaches and strategies to really focus on poor and disadvantaged
groups and, to improve the lives of the most deprived. It is argued that a government tl_mt
works for the people should be able to develop a policy framework that reflects the voice
of the people, can meet poverty reduction targets and, can raise, allocate and accgunt
fesources in accordance with those pro-poor policies. In this respect, donor agencies have
clamored for integrated and comprehensive strategies for poverty reduction and, the
Government’s recognition of this has helped to create a more congenial environment in
which to focus development activities on poverty reduction.

Governance issues have been a major factor undermining the effectivenes.siof
development efforts. They have taken many forms, including excessive pol}tchal
interference and increasing corruption. Some of the main examples are political
interference in government appointments, the frequent transfer of civil servants and
project officials, political involvement even in sinmiple procurement decisions, misuse and
diversion of public funds for unauthorized purposes and, cabinet decisions serving
parochial interests. In this environment, project implementation has suffered and desired
goals have not been reached. This has clearly heightened the need for good governance.

Questions:
—————a Whatare the challenges to develop economyinNepal2
b. What should the government do to improve the lives of the most deprived people?

c. Why do project implementation suffered and desired goals of the government
have not been reached?

d. Define good governance. Why is there need of good governance? Give reasons.

THHE
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Cnndidq,g; are required to er all the qutﬂiﬂ'ﬂ in their own words as far as practicable. The
Sigures in the margin indicate full marks.

Group “A»
&% Mx2=8
xl. Mean Of 100 items was 50. Later on it was found that two items were misread as 80 and 8

2 1nstead of 180 and 18, Find correct mean. g

2. ARandom sample of 100 itemS gave a mean of 15 kg and standard deviation of 3 kg. Find
95% confidence limits for the population mean,

3. Pmba_bilily of a girl passing an examination is 0.5 and probability of a boy passing the
©Xamination js (.4, find the probability that (a) both of them will pass the examination )
none of them will pass the examination.

4. Regression equations of tWo variables X and Y are as follows:

2X +2Y =26and 6X + Y =31

e ‘\Fu;diﬂ{e mean values of X and Y. O e T
Group “B”
Short Answer Questions: Hx3=12]

5. The following table shows the marks of 110 students of terminal examination of a campus.

Find the limits of middle 80% students.
60-80 80-100

[ Marks 0-20 2040 | 40-60
24 14

Students 10 26 36

6. A continuous random variable X follows the nqrfnal distribution with mean (W) = 750 and
standard deviation (o) = 100. Find the probability of X lies (a) between 650 to 950 (b)
\

above 950.

7. The following data are related to the heigh( (inches) and weight (pounds) of Swimmers.
Height 68 64 62 65 66
Weight 132 108 102 115 128

Calculate coefficient of correlation and interpret the result.

A sample of 100 students is taken from large population. 'l_'he average marks of those
d is 65 with dard deviation 5. Test the .hy'r h that whether the =

marks of population of students is 68 at 5% level of significance.

e %
Q40 X



e Gm“P“C”®‘ <58

Answer : 2x 8=161

A ¥ | distribution of families of a certain locality,
9.  The follo table shows the monthly income 5 7
Calculatewthl:scoefﬁcient of (a) quartile deviation and (b) kurtosis. Also, interpret the regy].

Income (000Rs) No. of families
- ey
010 s 90
=5 - 10-20 - 5 100 221
L 0304 - 150
— ==

90

40-50

10. A factory produces two types of mercury bulbs, A and B, [ an experiment relating to their
length of life, the following results were obtained:

Length of life (00 t Number of bulbs
hours)
e e L S

Type A Type B
0-5 % 1
5-10 11 9
10-15 B
15-20 B g
20-25 8 5 ¢
2530 LEF 4

‘Which types of bulb has more uniform life?

e ®
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Candidates are required to answer all the questions in their own words as far as practicable.

Group “A”
Brief Answer Questions: [Bx1=3]
1. Write down any two importance of manual data processing. -
2. How you sum data in cell Al to A10 using MS-Excel?
3. Write the process of sorting data in excel.

Group “B”

Short Answer Questions: B x3=9]
4. What is data processing” How computerized packages helpful in data processing?
5. Define the importance of internet in computerize accounting.

6. ' What is Excel? Define the process of inserting trend line in MS-Excel.

Group “C”
Long Answer Questions: [2 x6=12]
What is MIS? Explain the components of MIS. e 0
’l[;éf;% ERP with its advantages and limitations.
Group “D”
- Comprehensive Answer Questions: [1x12=13
o "Computerized accounting system provides abundance of benefit to accounting

pmfessionals". In the light of this statement write its types and benefits

THEE



